MITSUBISHI
ELECTRIC

INVERTER
Heatsink Protrusion Attachment

<FR-A7CNO01 to 14>

Thank you for selecting the Mitsubishi Electric inverter option unit.

This instruction manual gives handling information and precautions for use of this equipment. Incorrect handing might cause an
unexpected fault. Before using the equipment, please read this manual carefully to use the equipment to its optimum.

Please forward this instruction manual to the end user.

Safety Precautions

AWhile power is ON or for some time after power-OFF, do not touch the inverter (high power factor converter) and attachment as they will be
extremely hot. Doing so can cause burns.

AThe product must be transported in correct method that corresponds to the weight. Failure to do so may lead to injuries. Take special care
with the edge sections.

ADO not allow conductive foreign matter such as screws, metal chips, or flammable foreign matter such as oil enter the inverter (high power
factor converter).

This attachment allows approximately 70% of the heat generated by the inverter (high power factor converter) to be radiated outside the
enclosure by protruding the inverter (high power factor converter) heatsink section out from the rear side of the enclosure.

1.

1) Confirm the attachment model.
2) Confirm that the following parts are enclosed with the indicated quantity.

Preparation

No. Name Attachment Model
FR-A7CNO01 to 03 FR-A7CNO04 FR-A7CNO05 to 07 | FR-A7CNO08, 09 | FR-A7CN10 to 14
1) | Upper installation frame 1 1 1 1 1
2) | Upper cover 1 1 1 1 1
3) | Lower installation frame 1 1 *1) *1) *1)
4) | Frame installation screw 4 (M5) 4 (M8) *2) *2) *2)
5) | Cover installation screw 2 (M4) 2 (M4) 6 (M4) 6 (M4) 6 (M4)
6) | Right installation frame — — 1 1 1
7) | Leftinstallation frame — — 1 1 1
8) | Sticker — — — 2 —
*1) For the FR-A7CNO5 to 14 lower installation frame, use an inverter (high power factor converter) frame by changing its' installation position.

*2) Use inverter (high power factor converter) screws.

3) Applicable model

Applicable Applicable Attachment
model  [FR-A7CN01[FR-A7CN02| FR-A7CNO3 | FR-A7CNO4| FR-A7CNO5 | FR-A7CNO6 | FR-A7CNO7 | FR-A7CNOB | FR-A7CNO9 | FR-A7CN10 | FR-A7CN11 | FR-A7CN12| FR-A7CN13 | FR-ATCN14
2.2K 7.5K 15K 18.5K 37K — 45K — — 75K — — — —
FR-F720(P) 3.7K 11K 22K 55K 90K
5.5K 30K 110K
0.75K 7.5K 15K 22K — 37K 45K 90K 110K 132K — — — —
1.5K 1K 18.5K 30K 55K 160K
FR-F740(P) 2.2K 75K
3.7K
5.5K
1.5K 5.5K 11K 15K 30K — 37K — — 75K 55K — — —
FR-A720 2.2K 7.5K 18.5K 45K 90K
3.7K 22K
0.4K 5.5K 11K 18.5K — 30K 37K 75K 90K 110K — — — —
0.75K 7.5K 15K 22K 45K 132K
FR-A740 1.5K 55K
2.2K
3.7K
FR-HC2 — 7.5K H7.5K 15K 30K — — — 75K — — 55K H75K | H55K
H15K H30K H110K




2,

Installation

1) Cut the enclosure with the following dimensions according to the inverter (high power factor converter) capacity.

FR-A7CNO1 FR-A7CNO02 FR-A7CNO03 FR-A7CNO04
112 175 175
hmnd e N N i
& 4 — — E- [ -
2 Tls EITLe gL miTLe
K 1 v —F v —1 = L
2
2 5 5 S o
0 o a0 o I o ~| | o
ML & & & 8 ST $
6-M8
6-M5 screw| o 6-M5 screw| 6-M5 screw| screw o
N N N i gl
T K3 T ! T b T K3 T ) i
136 195 195 3 230 || |
145 212 212 260
(Unit:mm) (Unit:mm) (Unit:mm) (Unit:mm)
Applicable model Applicable model Applicable model Applicable model
FR-F720(P)-2.2K to 5.5K FR-F720(P)-7.5K, 11K FR-F720(P)-15K FR-F720(P)-18.5K to 30K
FR-F740(P)-0.75K to 5.5K FR-F740(P)-7.5K, 11K FR-F740(P)-15K, 18.5K FR-F740(P)-22K, 30K
FR-A720-1.5K to 3.7K FR-A720-5.5K, 7.5K FR-A720-11K FR-A720-15K to 22K
FR-A740-0.4K to 3.7K FR-A740-5.5K, 7.5K FR-A740-11K, 15K FR-A740-18.5K, 22K
FR-HC2-7.5K FR-HC2-H7.5K, H15K FR-HC2-15K
FR-A7CNO05 FR-A7CNO06 FR-A7CNOQO7
| 298 | | 290 | 410
L2199 | - 265 380
@‘ ‘@77 4 S
Tp}
il e ¢ 1 -1
O o -
(s} o ~ LO)|
w2 © = 3 o © S
[T} o] Vo) ~ Ye)
(e}
4-M8 screw | 6-M8 screw | | 4-M10 screw
~ A [Te)
4 & & S J N
270 ' L 270 ' & 4
380
330 330
. . 440
(Unit:mm) (Unit:mm)
(Unit:mm)

Applicable model

Applicable model

Applicable model

FR-F740(P)-37K

FR-F720(P)-45K, 55K

FR-F720(P)-37K
FR-A720-30K FR-A740-30K FR-F740(P)-45K, 55K, 75K
FR-HC2-30K FR-A720-37K, 45K
FR-HC2-H30K FR-A740-37K, 45K, 55K




FR-A7CNO08, 09 FR-A7CN10 FR-A7CN11
470 470 470
‘¢‘ R | 440 |
§ hAd 8 & § ¥
o
(o2} o o o
| N © — o N~ o
3 © ©S R N NI
4-M10 screw 4-M10 screw 4-M10 screw
| A} | 2 [ ] e
- + S & S &
. a0 ! L a0 | | a0 |
477 477 477
(Unit:mm) (Unit:mm) (Unit:mm)
Applicable model Applicable model Applicable model
FR-F740(P)-90K, 110K FR-F720(P)-75K, 90K, 110K FR-A720-55K
FR-A740-75K, 90K FR-F740(P)-132K, 160K
FR-HC2-75K FR-A720-75K, 90K
FR-HC2-H110K FR-A740-110K, 132K
FR-A7CN12 FR-A7CN13 FR-A7CN14
338 298 338
- 300
4-M8 screw 300 4-M8 screw 1t 4:M8 screw,
N
] R ] = -
o
o «© o (] ~ ©
S S S > ™~ ©
N 23 K3
N 300 = L 2710 < <—>232 |
377
_ 332 (Unit:mm)
(Unit:mm) (Unit:mm)
Applicable model Applicable model Applicable model
FR-HC2-55K FR-HC2-H75K FR-HC2-H55K

2) Refer to "4. Heatsink protrusion attachment and inverter (high power factor converter) assembly" to assemble. After

assembly, install the inverter (high power factor converter) in the enclosure.

~=-.. NOTE

B .
L] .
% ' + |+ Having a cooling fan, the cooling section which comes out of the enclosure cannot be used in the environment of

water drops, oil, mist, dust, etc.

* Be careful not to drop screws, dust etc. into the inverter (high power factor converter) and cooling fan section.
* There is 1mm of clearance between the FR-A7CN and inverter (high power factor converter). (The inverter (high
power factor converter) is not in an enclosed condition)




3. Outline dimension drawings

: Panel cut dimensions)

FR-A7CNO1
150
6-66 screw ‘ 136 ‘ @| Attachment 23.3_ _
b G——r— 4}: \J Panel
S 0
[T Kl Q’{i T B
O
,ﬁii,J_[ ©
o)
| | |8
=1 o)
| |8 g
| ‘ ‘ | =
| |
\ 4 u|
e O] L
& E— @ ﬂ
° 23 _Panel
Attachment 97 | 43]/(5.4)
(140)
(Unit: mm)
FR-A7CNO03
6-¢6.5 screw 245 @| Attachment 20
\ 195 ©
N
EHE i Panel
w
| | g8 | ¢
| L7 | T
to T e O |
(0)
e r\j &
 E— -
\ \ 9
‘ ‘ o3 &
I | & 3
Pl =
\ \
| \
0 o | —
’/T - - 747 ™~ o
(32}
N Q,le Panel
Attachment 89 101 || (5:4)
(190)
(Unit: mm)
FR-A7CNO05
(344) 105 .
Attachment .
2-$10 screw 338
298 s
< P. |
anel
O
N ———— —
iy Pl __
] 8
|
> l\;’
® — — - ]
o b ]
g2
[ ] S
)
3
B o
= — — — — —&v n
S R fi © 1§
o 270 ° | Panel
1235 |71.5
(195
(Unit: mm)

FR-A7CNO02
245 =
M* 195 ‘ i Attachment 172;3
e 2
Bﬂ—f - 0 Fﬁ} 4 Panel
| | o8 | @
0| @ ~—
‘ ‘* - -
=i = 7 T
E@ o
n ] I B
(— \ p
3
‘ ‘ o & =)
@ ©
|
\ |
\ |
jﬁ* a
N
’(‘Ia > . | —
+ + N
- ©@ Panel
« 23]
Attachment 864 84 _[(54)
—_— (170)
(Unit: mm)
FR-A7CNO04
280
6-#10 screw 230 o] Attachment ~ 45.3
= Panel
83 \
§E | 8
2 ¢
¥£© 1 ]
e m— |
|
| 3
| | )
I =)
i | 3| 25
| | §
N
| \
| |
| |
T ]
3 % &
i B % L
i
0 Panel
o 23]
Attachment 885 | 1015 ||(9.1)
E— (190)
(Unit: mm)
FR-A7CNO06
83.5
Attachment .82
4-¢10 screw 338 ~
. 290 e
— ¥ o) ) Panel
8 8 e
il - {
i —i=] Rl
Q@ ;EE (
0
<
o © =~
o o v |
— = 0
S ® I
10 L o Panel
270 - 1235 | 715
(195
(Unit: mm)



FR-A7CNO7

55
2§12 scrow :153 Attachment (3.2 |
Y — — 7 — — — =il 0O Panel
i}f e le ° Vo
| 2
J L
=i o
O ®
o _i u
(=]
o W)
Q| ©
0
1 8
3
@ ® ]
% =] Panel
380 - % | 150
(250)
(Unit: mm)
FR-A7CN10
519
2- $12 screw (510) 45
470 Attachment 3.2
)|l & S| Panel
%ﬁr el & A
| ! 1A o
| } | 2
@ ‘ & 4 *gﬂfh—
Il ‘ °
\ | |
[WETEy | ﬂ
\ i \
\ ‘ | ©
L o3
| | | 8% g
\ ! | g
| | |
I
\ ‘ |
} i } Panel
%— - Vv
ﬁfi*flffffﬁ g i
LUG e 1765 | 1835
400 (360)
(Unit: mm)
FR-A7CN12
(389) 105
383 .32
2-¢10 screw 338 s Attachment
)
| <
‘ O Panel
&} ‘”.— 1 :! ° o
™
1
= . @] ! j
@ ‘ ®
—
= o (
T I
| e
1] g8
\ g
I e
I
I
: | :
7%%7771777”7 g ﬁl
0 = Panel
300 1715 785
(250)
(Unit: mm)

FR-A7CNO8, 09

2-$12 screw 510 45
470 Attachment 3.2
11| e Penel
ul ‘ | g bl
| } | 2
S, & ‘ 4 ‘*’%\T I ;E‘F
I | °ll
| | \
= ‘ \ I
== |
[ | \
| | 8
| | | 8 g
[ ! \ <
| | |
| ‘ |
| ! \
| ‘ | Panel
! y
| e ﬁ
12 L = 116.5 183.5
400 (300)
(Unit: mm)
FR-A7CN11
(519) 45
2-¢$12 screw 510 Attachment [ a2
470
77777777777777 o Panel
] 8 o [
©
e, & & 0
T T
T I J
I |
I |
| oo D ‘
I — |
I |
I |
! 1 | 0
o|2
1 IR
I | =X
1 ]
I |
I |
I |
I |
I |
} } Panel
e N | v
S e— s |y
12 L =) 97 153
410 250)
(Unit: mm)
FR-A7CN13
(344) 105
338 .32
2-¢10 screw 298 :@) Attachment
| <
' S S | — . O Panel
e | o] 3 I___]
a ‘ Ll 4 J
g o
(I
0
Qo
[ ] g~ /'“‘m?
©
I
I
|
o o
——3 g "
‘ e { Panel
10| 171.5 78.5
270 (250)
(Unit: mm)



FR-A7CN14

(389) 105
383 132
2-¢10 screw 338 & Attachment
— ]
‘ 'r_‘ﬁ ‘ O Panel
% c 77‘777_‘«»— 8 I___] Panel
A | .LJ ) J
g i 2 r
I
o 4| i
I
L ‘ o8 &
| in 8
I
I
I
o | o
e R = il T
‘ (=]
- Panel
10 1715 | 78.
300 250)
(Unit: mm)

4. Heatsink protrusion attachment and inverter (high power factor
converter) assembly

FR-A7CNO1 FR-A7CN02
5) Cover installation screw M4 P 1) Upper installation frame
B . . 5) Cover g 3
1) Upper installation frame . ;
° « Install after making sure installation -
o thatthelugis firmly fited ~ screw M4 : ! ' 4) Frame installation

into the groove.

Inverter
(high power
factor converter)

s 4
el i . . ’ !
3) Lower j 4) Frame installation screw M5 o i
installation frame - 3) Lower g L
installation frame
FR-A7CNO03 FR-A7CN04
i i —-1T1) Upper installation frame
5) Cover ) Upper installation frame 5) Cover - .\ 1) Upp
installation installation | >3}
screw M4 4) Frame screw M4
2) Upper cover | installation 2) Upper cover -
L screw M5 -
Inverter Inverter
(high power (high power
factor converter) factor converter)
- o
_a® L

" 4) Frame installation

: | screw M8
3) Lower !
installation frame installation frame

3) Lower



FR-A7CNO05

4) Frame installation screw
*1

—
~ 1)Upper installation

FR-A7CNO06

2) Upper cover_,_ -+ i[
./ frame
- R the standard -
5) .COVGI' ) ’Q, ' 1 inzglcl);/leionef}oi%p;;r 5) Cover
installation = ¢l section. installation
screw M4 Inverter screw M4
(high power
7) Left s factor converter) 7) Left
installation installation
frame
6) Right frame
installation
frame

3) Lower installation frame *2

FR-A7CNO7

2) Upper cover _
5)Cover S 1) Upper installation 5) Cover g
installation frame installation **
o Remove the standard screw M4 o
.« installation foot/upper 8) Sticker *4
icker

screw M4 7
section.

. Inverter
7) !_eft _ ® 7) Left
installation installation
frame 6)Right frame
installation
frame

3) Lower installation frame *2

FR-A7CN10, 11

5) Cover _
N frame

¥ 4) Frame installation screw

s, 1) Upper installation

¢ 4)Frame installation screw

_ 1) Upper installation

frame
' Remove the standard
L« installation foot/upper
2 section.

Inverter

K

~,

6)Right
installation
frame

3) Lower installation frame *2

FR-A7CNO08, 09

3) Lower installation frame *2

f 4) Frame installation screw

2) Upper cover s *1

1) Upper installation

frame
i Remove the standard

|, installation foot/upper
 section.

Inverter
~ (high power
¥ factor converter)

8) Sticker *4
6)Right

installation

frame

FR-A7CN12, 13, 14

5)Cover

installation > J

the standard

>

8 4) Frame installation screw

o
= 1) Upper installation

frame
Remove the standard
installation foot/upper

' section.

installation
R
screw M4 =, inzgﬁ;:?on foot/upper
section. screw M4
High power
7)Left < INverter 7) Left factor converter
installation = installation v
frame
SR frame 6) Right
)nght . installation
installation frame
frame Ay
3) Lower installation frame *2

3) Lower installation frame *2

| REMARKS

Replacement procedure of the cooling fan

When replacing the cooling fan, "remove the upper cover 2)" and replace the cooling fan from the opening. (Refer to the

Instruction Manual of the inverter (high power factor converter) for details.)



*1  When carrying the inverter (high power factor converter), do not hold it by the upper frame section of "1) upper installation frame". Doing so
may change the frame shape.

*2  Change the position of the "standard installation foot/lower section" (same as "3) lower installation frame") and screw up both "6) 7) left and
right installation frames".

*3  For the FR-A7CNO7 to 11, fit the "2) upper cover" to the "1) upper installation frame" first, and then install the "1) upper installation frame" to
the inverter (high power factor converter).
When installing an "2) upper cover" to the "1) upper installation frame", a gap may sometimes be left between the lower part of the "2) upper
cover" and the "1) upper installation frame". Install the upper cover after making sure that there is no gap.

1) Upper installation QEH
frame N 2) Upper cover

q

i -
Inverter
(high power factor converter)

Agap may Push the cover so that
be left. there is no gap left.

*4  Place a "8) sticker" before installing the heatsink protrusion attachment. Slits are on the left and right sides of the inverter. Cover the slits on
both sides with stickers. (Sticker placement is not necessary for the high power factor converter.)

[l
I

*Place a sticker
in this area

MITSUBISHI ELECTRIC CORPORATION

HEAD OFFICE: TOKYO BUILDING 2-7-3, MARUNOUCHI, CHIYODA-KU, TOKYO 100-8310, JAPAN

IB(NA)-0600221ENG-C (1211)MEE Specifications subject to change without notice.



	Heatsink Protrusion Attachment

	1. Preparation
	2. Installation
	3. Outline dimension drawings
	4. Heatsink protrusion attachment and inverter (high power factorconverter) assembly



